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Action potential

Resting membrane potential Threshold potential = Action potential
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1- the-55mV voltage "that occur from graded potential " will activate the Nachannel and thezomv that is created by Nachannels stimulate the potassium voltage channels

open
the outer gate "inner is already open" to allow the sodium to inter

,
so k"cations will move outside thecell through the channels

2 the entering of Na"into the exon will raise the concentration of positive charge inside the movement ofk"cations create a possitere charge outsideand
So the voltage increases from -55mv tomu negative charge inside the cell

why specificly + 30 mv ? f
because the channel has inner gate that is sensitive to the +30mv ,

and it close 2- change the voltage from +30mv to -10 mr

on this voltage activation gate
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We have to stop calcium from releasing neurotransmitters
3- the positive charges come over to the Join So we need to stop cavollage channels

,
but HOW ?

next channel and activate it to transport inactivation gate inner gate closed on +30 mu voltage

more and more Nat toward inside and making the
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positivity through the hole exon. around the Catchannel so this channel is inhibited.
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toward the terminal bulb this isThe So the neurotransmitters are stoped from releasing.
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arrived to it and the Calcium will start to inter the exon · is-70mu , so what ?

5Calcium has a particular specific function thats linking the share proteins that present on

↳
potassium When it leaves

,
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are released out into this synaptic space and binds to particular receptors on the surface of another cell. but-90mu will tern to -Fomu by three things
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